Answers to Sequence 4 WS : Geometric Sequences

1) r=4 2) r=4 3) r=5 4) r=>5
5) r=-5 6) r=—4 7 oa=-4"" 8) a =4-6"""
9 a=-3-(-2)"" 10) a =—4-4""" 1) a=-2-5"" 12) a =3 -(-5)""!
13) a =5""! 14) 6111:(_6)”—1 15) 2': ~6, 18, —54, 162 n
16) —"1, —4, -16, —64, —256 " 17) 1, 3, 9, 27, 81 18) -2, —10, —50, —250, —1250
19) —4, —16, —64, —256, —1024  20) —4, 8, —16, 32, —64 21) a, =524288
Explicit:a =2 -4"""
22) a, =-524288 23) a_ = 177147 24) a,=26244 n
Explicit: a =—-2-4""" Explicit: a =3""" Explicit: a =4-3"""
25) a, = 1536 26) a9:—2621”44 27) a’:2:—354294
Explicit:a =-3 - (—2)" ! Explicit: a =—4 - 4! Explicit: a =2 - 3"t

28) a, =-59049

n—1

Explicit: a =-3
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